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There will

Answer fl” 90 questions. Each question carries one (1) mark.
be negative marking for wrong choice of option. One mark will be deducted

for every 2 (two) wrong answers.

Full Marks : 90

Read the following instructions carefully before you start answering.

Instructions

1. The sealed Question Booklet contains 90 questions.
The Question Booklet and the OMR Answer Sheet
will be issued 15 mins before start of exam.
Immediately after opening the Question Booklet,
ensure that any page/question is not missing/not
printed/torn/repeated. In case, you find any defect
anywhere in the Question Booklet, immediately
get it replaced by the Invigilator. At the same time
check your OMR Answer Sheet whether it is in
proper condition.

2. Write your name and put signature in the space
provided on Question Booklet and OMR Sheet.

3. When instructed, start filling up all the general
information of OMR Answer Sheet.

4. ‘Answer Sheet No.” printed on the OMR Answer
Sheet must not be tampered or in any way marked;
otherwise the candidature will be rejected.
Do not fold or make any stray marks on the OMR
Answer Sheet.
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5.

With each question you will find 4 possible answers
marked by the letters A, B, C & D. Read cach
question carefully and find out which answer,
according to you, is correct/most appropriate/best.
Indicate your answer by darkening the appropriaté
circle completely in the OMR Answer Sheet
corresponding to the question. For making answers
use black ink ball point pen only.

If ‘B’ is the correct answer in a case, mark as
below:

Correct :

Incorrect :
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If there is any difference between English version
and the corresponding translated version in Bengali
of any question, then the English version will be

treated as authentic.

rough work. Do not tear it off from the Question
Booklet.

After the examination has been over, you must
submit your OMR Answer Sheet and Question

Booklet.

. OMR Answer Sheet is designed for computer

evaluation. If you do not follow the instructions
given above and shown in the OMR Answer Sheet,
it may make evaluation by computer difficult,
Any resultant loss to the candidate on the above
account shall be of the candidate only,

There will be negative marking for wrong choice
of option. One mark will be deducted for every
2 (two) wrong answers.

Carbon copy of the OMR Sheet will be handed
over to the Candidate after completion of
examination with Signature of Invigilator

You can use the blank space of the last page for
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- 1. Inverted relief indicates
' (A) Anticlinal ridges and Synclinal valley
(B) Anticlinal valley and Synclinal ridge
(C) Fault scarp

(D) Basin and range topography

2. Paternoster lake is commonly found in the
(A) Fluvial landscape
(B) Glacial landscape
(C) Aecolian landscape
(D) Coastal landscape

3.
river rejuvenation.

(A) Meander

(B) Pool and riffle

(C) Structural bench
(D) Entrenched meander

is a feature developed due to

4. Identify the drainage pattern from the
following diagram:
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(A) Centripetal

(B) Centrifugal

(C) Annular

(D) Dendritic
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5. Ekman spiral is primarily the result of
(A) Gravitational force
(B) Coriolis force
(C) Wind shear
(D) Pressure gradient force

6. The Sunda Trench is formed due to

(A) the subduction of Australian-
Capricorn plates under the Eurasian
plate.

(B) the divergence of Australian-
Capricorn plates under the Eurasian
plate.

(C) the subduction of North American
plates under the Eurasian plate.

(D) the divergence of African plates
under the Eurasian plate.

7. Which of the following is not true about
T-S diagram?

(A) Used to identify water masses

(B) Potential temperature is shown on the
vertical axis

(C) Salinity is shown on the horizontal
axis

(D) Shows the swatch of no ground

8. Where is ‘eye of cyclone’ found?
(A) Temperate cyclone
(B) Tropical cyclone
(C) Tormnado
(D) Kalbaisakhi

9, In which region winter precipitation and
summer dry conditions are commonly found?

(A) Mediterranean
(B) Tropical

(C) Monsoon

(D) Equatorial
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10. Mull humus is found in
(A) Podzol soil
(B) Chernozem soil
(C) Laterite
(D) Brown earth

11. Ecocline refers to

(A) a transition zone between two
terrestrial ecosystems.

(B) atransition zone between a terrestrial
and an aquatic ecosystem.

(C) atransition zone between two aquatic
ecosystems,

(D) a transition zone between two marine
ecosystems.

12. 'Which of the following has no inverted
pyramid?

(A) Biomass pyramid
(B) Energy pyramid
(C) Number pyramid
(D) All of the above

13. An epiphyte is commonly found in the
biome.

(A) Equatorial Rainforest
(B) Savanna

(C) Tropical Deciduous
(D) Steppe

14. Which of the following is an ideal horizon
of a soil body?

(A) D horizon
(B) C horizon
(C) B horizon
(D) O horizon
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15. Who propounded the concept of biodiversity
hotspot?

(A) POdum

(B) E Kormondy
(C) N Myers
(D) E Hacckel

16. Pneumatophoreisatypical characteristic of
(A) Equatorial forest
(B) Grassland
(C) Boreal forest
(D) Mangrove forest

17. Lindeman’s 10% law states

(A) only10percentofenergyistransferred
from one trophic level to another.

(B) only 10percentof enérgy isconsumed
at a trophic level.

(C) only 10 per cent of energy is lost from
one trophic level to another.

(D) only 10 per cent of energy is stored at
a trophic level.

18. How many sustainable developments goals
are set by the UNO?

(A) 15
(B) 16
C) 17
(D) 18

19. TheMontreal Protocol (1987)aims to protect
(A) the stratospheric ozone layers,
(B) the water quality of the oceans.
(C) the landform erosion.
(D) the rivers from further degradation.
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20. Who propounded minimum deviation
. method of crop combination?

(A) Weaver

(B) Rafiullah

(C) Gibbs-Martin
(D) Singh and Dhillon

21. Which of the following is a demersal fish?
(A) Herring
(B) Hagfish
(C) Sardine
(D) Tuna

22. Red collar workers signify

(A) direct outdoor nature of the job
engaging in the field.

(B) clerical office work.
(C) highly Professional job.
(D) hard manual labour.

23. Sequence the following states according to
descending order of population density as per the
Census 2011?

(A) Bihar, West Bengal, Kerala, Uttar .
Pradesh

(B) Bihar, Uttar Pradesh, West Bengal, -
Kerala

(C) Bihar, West Bengal, Uttar Pradesh,
Kerala

(D) Bihar, Kerala, Uttar Pradesh, West
Bengal

24. Law of intervening opportunities on human
migration was given by
(A) Lee
(B) Stouffer
(C) Ravenstein
(D) Todaro
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25, Racialsuicideinthe demographic transition

phase refers to
(A) High birth rate and high death rate

(B) High birth rate and low death rate
(C) Low birth rate and high death rate
(D) Low birth rate and low death rate

26. Sequence the states in terms of rice
production in descending order.

(A) West Bengal, Odisha, Bihar, Gujarat
(B) West Bengal, Bihar, Odisha, Gujarat
(C) West Bengal, Bihar, Gujarat, Odisha
(D) Odisha, West Bengal, Bihar, Gujarat

27. Sabar tribe is mainly found in _
(A) Little Andaman and Greater Andaman-.
(B) Odisha and West Bengal
(C) Bihar and West Bengal '
(D) Jharkhand and West Bengal

28. The Planning Commission of India divided
India into agroclimatic regions,

(A) 12
(B) 15
(€) 13
(D) 18

29. Borra Caves in Andhra Pradesh is an
example of

(A) Acolian topography
(B) Coastal topography
(C) Glacial topography
(D) Karst topography
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.30. On map A with 1: 5000 scale, road A is
measured as 10cm; onmap B withascale 1 : 50,000,
road B is measured as 10 cm; and on map C with a
scale 1 : 500, road C is measured as 10 cm. Now
what would be the correct responses in respect of
the ground length of the three roads?

(A) Road A>B>C
(B) Road B>C>A
(C) Road B>A>C
(D) Road C>A>B

31. ___ diversity refers to the ratio of

local diversity and regional diversity.
(A) Alpha
(B) Beta
(C) Gamma
(D) Pan

32. What does ‘b’ indicate in a linear equation
Yc = a+bx?
(A) Y-intercept with x
(B) Determination of com;laiiori
(C) Correlation coefficient '
(D) The slope of the line

33. See the following diagram with codes 1, 2
and 3 and choose the correct answer.

(A) 1-expansive pyramid, 2-stationary, 3-
constrictive

(B) 3-expansive pyramid, 2-stationary, 1-
constrictive

(C) 2-expansive pyramid, 1-stationary,
3-constrictive

(D) 1-expansive pyramid, 2-stationary,
3-stationary
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(A) a8 A>B>C
£B) 71T B>C>A
(C) T B>A>C
(D) 3B C>A>B
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34. Which of the following rock covers more 4, e com Rl AR TR ‘?W
than 50 per cent portion of the continent of earth . {50 “N'JTW P EIeH Ere TCARY
crust? Ay s Rt
(A) Igneous Rock (B) Forsfae e
(B) Metamorphic Rock (©) AR R
(C) Sedimentary Rock (D) T R AR e
(D) Igneous and Metamorphic Rock
35. Whichofthe followingrepresentsthe correct 35, Awa @AM AR I SRR
sequence of descending order of the elements of YIS @'rlmﬁi Afoer Altes ?
earth’s crust? (A) Fe, Al,Ca,Mg, K
(A) Fe, Al,Ca,Mg,K (B) Al Fe,Ca,Mg, K
(B) Al Fe, Ca, Mg, K (C) Fe, Al, Ca, K, Mg
Q) Ee.fl.Ca KoMg (D) AL Fe, Ca, K, Mg
(D) Al Fe, Ca, K, Mg
36. Which of the following folds represents | . 36, RafFiRe Swefm N @WLT ST
maximum tilted axis? FEF el 2
(A) Recumbent Fold ' (A) e SIE
(B) Fan Fold S f ' (B) & STe
(C) Isoclinal Fold . (C) TS Siw
(D) Chevron Fold i, (it (D) CE@'ﬂﬂY"ﬂ@?
37. What is the name of the amma}fossﬂ_that 37. @ an?ﬁa @?ﬂ“ﬂ N2-ILR TGS WQﬁT
supports continental drift theory? IE? -
(A) Mesosaurus ' ) I (A) G
(B) Glossopteris A B) TR
(C) Keichousaurus ©) RGP
(D) Asilisaurus D) ST
38. The mostdestructive earthquake atepicenter - 38 T TRAOE RANF @W @ oI
is caused by the wave . 7l 98 =W I == |
(A) P ' - (A) P
(B) S © (B) S
©L AC) L
(D) R (D) R
39. Scree or Talus is mainly developed by the 39, Hl I TR adive T QR S = &
action of ) EG| | i
(A) Glacier activity (A) Pneskant
(B) Insolation effect (B) m w1 e
(C) Hydration (©) A
(D) Glacier and river activity (P) Rz W3 A I




40. What is the value of safety factor for the
occurrences of mass wasting?

(A) 21
(B) <2
©) >1
(D) <1

41. In which of the following conditions of
river flow normally the Delta is developed?

(A) quopycnal flow
(B) Hypopycnal flow

(C) Hyperpycnal flow
(D) None of the above

42. Match List-I and List-II and choose the
correct option.

List-1 List-II
(Drainage Patterns) (Developable Regions)
(a) Radial (1) Regions underldin by
homogeneous
(b) Dendritic (2) Pronounced slope to
the surface
(c) Parallel (3) Low land
(d) Centripetal (4) Volcanic hill
(@ () (© (@
Aa @ o 6 @
@) @& @1 @ G
© @ @1 3 @
® @O 2 @ 3

43. Among the following world oceans, which
_ocean has the widest continental shelf?

(A) Indian Ocean
(B) Atlantic Ocean
(C) Arctic Ocean
(D) Pacific Ocean

(1
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(A) 21
(B) <2
©) >1
(D) £1
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(A) @RI 2z
(B) RrAifermare &z
- (C) ZfeirfHEE gz’
(D) ToER @GR

42. List-I @3¢ List-Il (eie @32 AT Teals

fise ==

List-I List-1I
(TeAfef ) (sif5 =ig=)
(a) RIS (1) TG e e o
(b) TFA (2) T BIF WLE
(c) TG @3) Fgh
(@) EIR . (4) SIICH AR

@ () (© (d
@A @ @O 3G @
B @& @1 @ O,
© @ 1.6 @
® @O @ @ G-
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(A) OIS TR
(B) SiGenfo Sgle
(C) oI sflelg
(D) Mg TR
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A R AT g S
44. Which of the following represents a correct 44, B3 T W%WW al
* sequence of descending order of oceanic deposits ST AL SIS erert! 2oz ?
as per the concentration of CaCO,? (A) GLAT o, 711 i, ez
(A) Pteropod Ooze, Red Mud, Radiolarian g, el Pl
Ooze, Blue Mud . (B) m%ﬁﬂf,ﬁlﬁw, Cﬂﬁi\@?’ﬁﬁm
(B) Pteropod Ooze, Blue Mud, Radiolarian ﬁw #ie] Il
OOZE, Red Mud (C) m% ﬁw GG W, a?'f m’
(C) Pteropod Ooze, Red Mud, Blue Mud, cfeafaam P (
Radiolarian O ] : q
adiolarian Ooze ) B o Nt T, A

(D) Pteropod Ooze, Blue Mud, Red Mud,
Radiolarian Ooze

45. 91y *ifea T© =TI TH ~[T0 ZAIERS 2,

45. Percentage of wind energy transferred to

sea surface is . ez
(A) 4-8 (A) 4-8
(B) 5-10 (B) 5-10
(C) 10-15 : (C) 10-15
D) 2-4 (D) 2-4
46. Match List-T and List-Il and choose the 46. List-I 9 List-Il Grette @R Aoz el
correct option. faden =t |
List-I List-1I List-I List-II
(Ocean Currents) (Oceans) (" (ITS) CERGIRED]
(a) Agulhas Current (1) Pacific Ocean (a) S @Fe (1) 2MiE T
(b) Rennell Current (2) Indian ocean (b) B @ ) S T

(c) Angola Current (3) South Atlantic Ocean
(d) Tsushima Current (4) North Atlantic Ocean

@@ () () @

() WA @S (3) W SIlGeToe TR
(d) T G (4) TeqibaIfow Tz

a) @ @ 3 O @ () (© (@)
B) (2 () 3 @ A @ @ &
© 3 @ @ O B @ @O 3 @
@ @ @) @ © @ @ @

@ @ 3 @

47, Atpresent,thelargest producerofsea weeds 47. I <
g | e Sieitera s Gesites 2

-_—

(A) USA

(B) China (g) . SRl
(C) Russia (B)
(D) Japan (C) wibern

(D) wa
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48. Noctilucent cloud is located jp the

—

(A) Troposphere
(B) Stratosphere
(C) Mesosphere
(D) Ozonosphere

49. What is the minimum value of Coriolis
parameter for the development of cyclonic vortex?
(A) 5.5/s
(B) 10.5/s
(C) 15.5/s
(D) 20.5/s

50. Which of the following clouds has maximum
contribution in the world annual rainfall?

(A) Cumulonimbus cloud
(B) Stratus cloud

(C) Nimbostratus cloud
(D) Altostratus cloud

51. The idea of the origin of monsoon is given
by ;
(A) Al Battani
(B) Al Balkhi
(C) Al Masudi
(D) Ibn Khaldun

52. Which of the following forces does not
allow the wind to reach the centre of alow pressure
area?

(A) Centrifugal force
(B) Coriolis force
(C) Centripetal force
(D) Frictional force

53. Into how many groups has ICAR divided
the Indian soils?

(A) 11
(B) 10
©) 7
(D) 8

B-13
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48, TG R e | )
(A) Geetfrara
(B) BB
(C) cenfema
(D) STEIFFAR

49, sRwie iz Rerr o ofiel™
AEoEe WM AT F© 26T LG ?

(A) 5.5/
(B) 10.5/s
(C) 15.5/s
(D) 20.5/s

50. ={f3= AR JRCS M @IN o S
GG @2
| (X) FFeaEgr o
(B) FIoMI (T
(C) Feargiom e™
(D) SEHGIZTN GIY

51. GIPIR IS ©esife T2icE il e
|

(A) S el
(B) W& IR
(@) o S
(D) 337 YfeTgA

52. fanfeRe Terefm g Wb g Fsitm
@ (RIS (77 2

K) @R 7=
(B) Refam 3=

(C) =R =
(D) T T4

53. ICAR SIS &I 30 ©itsl Sl S0z ¢
(A) 11
(B) 10
C) 7
D) 8
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54. Which of the following soil types has the
highest phosphorus fixing capacity?
(A) Black soil
(B) Sierozem soil
(C) Chernozem soil
(D) Red soil

55. Number of biosphere reserves in India is
A) 1
(B) 8
(C) 10
(D) 4

56. Humus layer in grassland is called

(A) Duff
(B) Mull
(C) Sward
(D) Orterde

57. Plants which grow on the surface of other
plants without causing any harm to it are called

B-14

54. SHA @ 4R YGRS AL TR
YI3e ! AAR? LS
(A) T &
(B) At 3!
© SiefCerl e
(D) = el |
55, wrRrs AR RarsT T ______|
(/) 18 |
(B) 8
®) 10 i
Pl
56. geIghE REIM T 0 |
(K) o
(B) T

(C) 7eTE
(D) SGIATe

57, @ T OfEw o SR SfEeIs (It
o 7l F(F T O & - 1

(A) Epiphytes ) P
(B) Lithophytes <4 ?Wwfﬁﬁ
(C) Macrophytes € 5
(D) Halophytes ®)
58. Match List-I and List-IT and choose the 58. List-] €3 List-I Giate @} Afe Saal
correct option. <o el
List-I List-II List-I List-II
(a) | Biome (1) | Lake (a) | AN (1) | %
(b) | Community | (2) | Earth (b) | Few @) |7
(c) | Ecosystem | (3) | Rain forest (c) | IEeT ORELER!
(d) | Biosphere (4) | Different population (d) | Eemes - (4) | Rioa sl
(@) (b) () () (@) (b) (¢) () |
A 3 @ 1) @ A 3) @ 1) @
B) (2 @& () 3 B) @ @ 1) 3
© @ & qO) @ © @ 3 1 @
@ @ 3G 1) @ o @ 3 O @
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59. Who among the follow;
the father of modern ecology?

(A) Ernst Haecke]
(B) Tansley

(C) Odum

(D) Charles Elton

Ng 1s considered ag

!

60. The simplest biogeographical cycle is

~

(A) P
(B) N
€) O
D) C

61. Match List-I and List-II and choose the
correct option.

List-I List-1I

(2) Basel Convention (1) Transboundary
Hazardous Waste
management

(b) Kyoto Protocol

() Vienna Convention (3) Protection of ozone
layer

(d) CITES Convention (4) Illegal trade . of
endangered species
(@ @) (© (@
Aa 3 @ 1O @
B @O @ 6 @
© @@ 0 G
@ @ @ 3 O

(2) Climate change

62. Which of the following resources has known
‘Quantity? _
(A) Abiotic resources
(B) Potential resources
(C) Actual resources
(D) Natural resources
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59. FefRe IfRemm g s eRs IERmE
TGP I T 9

() RS iz
(B) Gitwiet

(C) e

(D) BIef «@ibn

60. FE I (G G-I ST ______|
(A) P
(B) N
© O
®) C

61. List-I 433 List-Il (TeMe 3% e% Teal

o st
List-T List-II

(a) NG IR (1) SIS Rofeee
I o

(b) R AR (2) TR AR

(c) ot AT (3) €TEI TEF T

(d) CITES e (4) o ofenifoq witay
[

@ ® © @
@ B @ 0 @
B O @ 6 @
© @ @ O
@ @ @ 6
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§A) e Fewg
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63. Which of the following represents a correct
sequence of ascending order of fishing grounds as
per the production of fish?

(A) South-East Atlantic, North-East
Pacific, South-East Pacific, North-East
Atlantic

(B) South-EastPacific, North-East Pacific,
South-East Atlantic, North-East
Atlantic

(C) South-East Atlantic, North-East
Pacific, North-East Atlantic, South-
East Pacific

(D) North-East Pacific, South-East

Atlantic, South-East Pacific, North-
East Atlantic

64. The poorest quality of iron ore is
(A) Limonite
(B) Siderite
(C) Taconite
(D) Hosmanite

65. Minimum velocity of wind required for
wind power generation is

(A) 4 -8 km/hr

(B) 20— 25 km/hr
(C) 15— 20 kmv/hr
(D) 8- 14 km/hr

66. What is the population of rural India as per
2011 Census?

(A) About 733 million
(B) About 833 million
(C) About 933 million
(D) About 783 million

67. According to WHO the neonatal death is

(A) Death among live births within one
month of life.

(B) Death among live births during the
first 28 completed days of life.

(C) Death among live births within one
year of life.

(D) Death among live births within one
week of life.
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(A) qﬁfﬂ-‘[-off oo SEFeld, W-‘?ﬁ'
e STIIo1, el o 2T ST,
Bag- TalFoF SR
(B) wfpel-o 21 TR, Ta7-+{d eirg
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Taa-+d Tio=Iv T2
fipel-ofd WBeTIOF TZHIo, TE-of
ot STz, SEa-od Abefow
sgieta, AiEe-od eIrg SRl A
(D) B@a-+{d 2erg TP, Tl
wisefoT wzsE, ured-od 2
PR, Tea-od wibaloe TRHIsE

64, AT g CIE SRRT T |
(A) TwiEs
(B) Preaizs
(C) TITiEs
(D) TG

65. TG TLAMEI &) AT (F Porod (9
SAIe (il 25 |
(A) 4 -8 km/hr
(B) 20— 25 km/hr
(C) 15 -20 km/hr
(D) 8- 14 km/hr

(©)

66. 2011 AT WL SHFAR A STSA
TR O 2

(A) =3 733 ffem

(B) = 833 fuferaw

(C) =g 933 fRifeaw

(D) eifg 783 fifews
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68. Net Reproduction Rate (NRR) refers to

(A) theratio between female births in two
f successive generationg
5 mortality into account,

(B) theratio between female births intwo

@ successive generations without taking
x mortality into account,

(C) the total number of children a woman
would have if she survived all of her
childbearing age.

(D) thetotal number of daughters a woman

would have if she survived all of her
childbearing age.

taking

69. Migration stream refers to

(A) stream like movements of mi grants
that have a common area of origin and
a common area of destination.

(B) total number of migrants that have a
common area of origin and a common
area of destination.

(C) total number of moves made during a
given migration interval that have a
common area of origin and acommon
area of destination

(D) narrow stream like paths of migrants.

70. Match List-I and List-II and choose the
correct option.

List-1 List-II
(a) Conurbation (1) Andre Allix.
(b) Umland (2) Galpin
(€) Megalopolis (3) Patrick Geddes
(d) Rurban (4) Gottman

(@ (b) (¢) ()
A 3 @O 2 @
B @3 @O @ @
© @ @ @ G
D 3 @ @O @

B-17 MSC/GEO/IX-X/23"

68. (1 2% 217 (NRR) %81 —

(A) TR REGE A A2 g0 2t
G AN GET SAIS |

(B) srzre Raeam @t g siwew 4o
AT S A GENA SATS |

(C) % w3 (115 ARIETa 7R I TSI
I TGN LR I #14G (& AT |

(D) «FGe WZFE GNo Il AR ARAT
It (71 ©fF 1€ TG HIFTF I 214
(& AU |

69. ~AfFarew 2[R @S [T —
(A) A 0! (A SN ZAISI T
- ifFareTER BeTEE Gk SIETEE 3 |
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TFGZE 973 | |
(D) eIt A¢Hlf ArR Tl er A |

70. List-I €32 List-Il (=ile @22 #fds Sl
GG
List-I
(a) G
(B) ICRGEI
(c) CIstTasifes

List-IT
(1) I Soifer
(2) UiEfem

(3) 0= cotew

(4) sHw

(@ () (© @
@a 6 GO @ @.
B) G @O @ @
© @ O @ G
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71. Whichof the following represents the correct
sequence of descending order of soil types of India .
as per their surface coverage?

(A) Laterite soil, Red soil, Black soil,
Desert soil

(B) Black soil, Red soil, Desert soil,
Laterite soil

(C) Red soil, Black soil, Laterite soil,
Desert soil

(D) Red soil, Black soil, Desert soil,
Laterite soil

72. National Waterway - 5 (NW - 5) is located
in the state of .

(A) UP

(B) Assam

(C) Odisha
(D) Tamil Nadu

73. Match List-I and List-II and choose the
correct option.

List-I (Dams) List-II (Rivers)

(a) Jalaput Dam (1) Krishna River
(b) Nagarjuna Sagar Dam (2) Penna River

(c) Somasila Dam (3) Godavari River

(d) Polavaram Dam (4) Machkund River
(@) (b) (¢ (d)

A (1) 3 @ @
B () @ @ 3
© @ (1) 3 (2

® @ O @ 6
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TFghR e
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72. e Teie - 5 (NW - 5) (¥ 3 SR(ES
Il == |
(A) TeF gom
(B) SRS
(C) il
(D) ST

73. List-] €32 List-II (Tente @32 e Twafo
4o =)

List-I (Jtx) List-II (/17)
(a) TG Sy (1) Tl TR
(b) Sairefs Ao iy (2) comt Y
(c) e Jy (3) Cottmia=t =t
(d) coArTISTas Sy (4) TS TA
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Ay 1) 3 @ (@
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.74, Match List-I and List-I and choose the
correct option.

List-I (Minerals) List-11 (Leading
o Producing States)
(%) Manganese (1) Odisha

(b) Mica (2) Madhya Pradesh
(c) Bauxite (3) Andhra Pradegh
(d) Gold (4) Karnataka |

@) () () (@
Aa @ 3 @ @
B & @ @O @
© @ O 3 @
D) @ & 1O @

75. Which scale is simplest form of
measurement?

(A) Ordinal Scale
(B) Nominal Scale
(C) Ratio Scale

(D) Interval Scale

76. Consider the following and choose the
correct sequence of maps from smaller scale to
larger scale.

(A) Globe, Topographical Map, Cadastral
Map, Wall Map

(B) Cadastral Map, Topographical Map,
Wall Map, Globe

(C) Globe, WallMap, Topographical Map,
Cadastral Map

(D) Cadastral Map, Wall Map,
Topographical Map, Globe

) 77. Which of the projections shows an object ars;
tlooks from front, right, left, top, bottom or back’

(A) Orthographic Projection
(B) Non-Perspective Projection
(C) Equal Area Projection

(D) Perspective Projection
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78. Cumulative frequency table is important
for

(A) Mean

(B) Median

(C) Mode

(D) Quartile deviation

79. ‘Present is the key to the past’ states the
philosophy of

(A) Environmentalism
(B) Catastrophism

(C) Uniformitarianism
(D) Neo-catastrophism

80. Kolkata is located in a seismic zone—
(A) 2
®B) 3
€ 4
D) 5

81. Stop-and-go determinism postulates
(A) change in direction and pace.

(B) change in pace only with same
direction.

(C) change in direction only with same
pace.

(D) change in space, pace and direction.

82. Which of the following is not a greenhouse_
gas?

(A) CFC

(B) Water vapour
(C) Argon

(D) Carbon dioxide

75, RO R (e b o e

iz '

(A) TS a
(B) w4ral

(C) T

(D) @RbRE RpyfS

79, < T SrIed Sy -aq i I
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83, Low rclative humidity
temperature are plotted as
Taylor Hythergraph.

(A) Keen

(B) Scorching
(C) Raw

(D) Muggy

and high wet-bulb
in the

84. Treed grassland is a typical characteristics
of the

(A) Steppe biome
(B) Veldt biome
(C) Savanna biome
(D) Pampas biome

85. The hazard that makes human life and

livelihood most threatened in Bengal delta every
year is

(A) Drought

(B) Flood

(C) Earthquake

(D) Riverbank erosion

86. The UNO sustainable development goal 6
relatcs fo

(A) No poverty
(B) Zero hunger

(C) Clean water and sanitation
(D) Sustainable cities and communities
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87. Which carbonate mineral reacts readily with
cool, dilute hydrochloric acid to produce visible
bubbles of carbon dioxide gas?

(A) Dolomite
(B) Quartz
(C) Calcite
(D) Plagioclase

88. The strong tendency of certain minerals to
break along smooth, parallel planes is known as

(A) streak

(B) crystal form
(C) cracking luster
(D) cleavage

89. Whichone of the following most accurately
describes the volcanoes of the Hawaiian Islands?

(A) Stratovolcanoes associated with

subduction and a convergent plate
boundary.

(B) Shield volcanoes fed by a long-lived

hotspot below the Pacific lithospheric
plate. '

(C) Shield volcanoes associated with a
mid-Pacific ridge and spreading
center.

(D) Stratovolcanoes associated with a
mid-Pacific transform fault.

9(0. Lehman discontinuity separates
(A) crust from mantle.
(B) upper crust from lower crust.
(C) mantle from outer core.
(D) outer core from the inner core.
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